7

)

&) PV £ m &

\\‘\
) BVBOD R DY BOHE (bYH) 2 (1)

RODWYELE ENS T2 WEIZL T, f%ﬁ@k%ifé%%%bt) LEFL &I,
Fr. CHoIVDFHENZAZZE L 2FE->TEKHIL &£,

7632+24 8000+ 20=400 5967+ 13 6000+ 10=600
amey( 400 ) wr<( 318 ) sy 600 ) ®r<( 459 )
7848+36 8000+ 40=200 26738+58  30000+60=500
amey( 200 ) &x<( 218 ) awey( 500 ) wr<( 461 )
28288+ 64  30000+60=500 49250+ 125 50000+ |00=500
amey( 500 ) w442 ) amey( 500 ) we<( 394 )
30282+309 30000+300= 100 36176+76  40000+80=500
amey( 100 ) wr<( 98 ) amey( 500 ) @r<( 476 )
66836+ 682 70000+700= 100 |6344+454 20000 +500=40

amey( 100 ) ®r<( 98

N——

amey( 40 ) a@x<( 36 )

. R INPE - REEREY OVENPE LU~

Bz o LTO¥BT U MIWebH A M SERTYD>O— RTEET,  https:/FBFU> b.com



